

ARMY PUBLIC SCHOOL, UMROI BOOK LIST (2022-2023)

Class -I

SI No	Subject	TextBook	Publisher	Price
1	English	Roots & Wings (Text Book)-1	Srijan Pub Pvt Ltd	79.00
		English Grammar Trove-1	Rohan Book Co.	94.00
2	Hindi	Gunjan (TextBook)-1	Madhuban Edn Book	121.00
		Hindi Vyakaran Vatika-1	Madhuban Edn Book	87.00
3	Mathematics	Learning Maths-1	Frank Edn Aids Pvt Ltd	138.00
4	Computer	IT Planet Code Bot-1	PM Publishers Pvt Ltd	138.00
5	EVS	Lets Explore our Environment-1	Arya Book Depot	81.00
6	GK	GK Planet-1	PM Publishers Pvt Ltd	115.00
7	Atlas	My First Altas-1	Goyal Brothers	83.00
8	Art & Craft	Art & Craft-1	PM Publisher	154.00
9	Moral Sci.	Living in Harmony-1	Oxford University	112.00
10	Exercise copy	9*60		540.00
11	Test Copy	5*30		150.00
12	Cover Roll	1 Pc		120.00
13	Drawing Copy	1 Pc		30.00
14	Name Sticker			10.00
			Total	2052.00

Class -II

SI No	Subject	TextBook	Publisher	Price
1	English	Roots & Wings (Text Book)-2	Srijan Pub Pvt Ltd	79.00
		English Grammar Trove-2	Rohan Book Co.	98.00
2	Hindi	Gunjan (TextBook)-2	Madhuban Edn Book	127.00
		Hindi Vyakaran Vatika-2	Madhuban Edn Book	93.00
3	Mathematics	Learning Maths-2	Frank Edn Aids Pvt Ltd	144.00
4	Computer	IT Planet Code Bot-2	PM Publishers Pvt Ltd	152.00
5	EVS	Lets Explore our Environment-2	Arya Book Depot	81.00
6	GK	GK Planet-2	PM Publishers Pvt Ltd	115.00
7	Atlas	My First Altas-2	Goyal Brothers	83.00
8	Art & Craft	Art & Craft-2	PM Publisher	154.00
9	Moral Sci.	Living in Harmony-2	Oxford University	112.00
10	Exercise copy	9*60		540.00
11	Test Copy	5*30		150.00
12	Cover Roll	1 Pc		120.00
13	Drawing Copy	1 Pc		30.00
14	Name Sticker			10.00
				2088.00

Class -III

SI No	Subject	TextBook	Publisher	Price
1	English	Roots & Wings (Text Book)-3	Srijan Pub Pvt Ltd	86.00
		English Grammar Trove-3	Rohan Book Co.	104.00
2	Hindi	Gunjan (TextBook)-3	Madhuban Edn Book	131.00
		Hindi Vyakaran Vatika-3	Madhuban Edn Book	106.00
3	Mathematics	Learning Maths-3	Frank Edn Aids Pvt Ltd	160.00
4	Computer	IT Planet Code Bot-3	PM Publishers Pvt Ltd	160.00
5	EVS	Lets Explore our Environment-3	Arya Book Depot	83.00
6	GK	GK Planet-3	PM Publishers Pvt Ltd	126.00
7	Atlas	My First Altas-3	Goyal Brothers	83.00
8	Art & Craft	Art & Craft-3	PM Publisher	154.00
9	Moral Sci.	Living in Harmony-3	Oxford University	112.00
10	Exercise copy	9*60		540.00
11	Test Copy	5*30		150.00
12	Cover Roll	1 Pc		120.00
13	Drawing Copy	1 Pc		30.00
14	Name Sticker			10.00
				2155.00

Class -IV

SI No	Subject	TextBook	Publisher	Price
1	English	Roots & Wings (Text Book)-4	Srijan Pub Pvt Ltd	86.00
		English Grammar Trove-4	Rohan Book Co.	110.00
2	Hindi	Gunjan (TextBook)-4	Madhuban Edn Book	138.00
		Hindi Vyakaran Vatika-4	Madhuban Edn Book	118.00
3	Mathematics	Learning Maths-4	Frank Edn Aids Pvt Ltd	170.00
4	Computer	IT Planet Code Bot-4	PM Publishers Pvt Ltd	160.00
5	EVS	Lets Explore our Environment-4	Arya Book Depot	86.00
6	GK	GK Planet-4	PM Publishers Pvt Ltd	126.00
7	Atlas	My First Altas-4	Goyal Brothers	83.00
8	Art & Craft	Art & Craft-4	PM Publisher	154.00
9	Moral Sci.	Living in Harmony-4	Oxford University	112.00
10	Exercise copy	9*60		540.00
11	Test Copy	5*30		150.00
12	Cover Roll	1 Pc		120.00
13	Drawing Copy	1 Pc		30.00
14	Name Sticker			10.00
				2193.00

Class -V

SI No	Subject	TextBook	Publisher	Price
1	English	Roots & Wings (Text Book)-5	Srijan Pub Pvt Ltd	96.00
		English Grammar Trove-5	Rohan Book Co.	115.00
2	Hindi	Gunjan (TextBook)-5	Madhuban Edn Book	141.00
		Hindi Vyakaran Vatika-5	Madhuban Edn Book	127.00
3	Mathematics	Learning Maths-5	Frank Edn Aids Pvt Ltd	170.00
4	Computer	IT Planet Code Bot-5	PM Publishers Pvt Ltd	182.00
5	EVS	Lets Explore our Environment-5	Arya Book Depot	88.00
6	GK	GK Planet-5	PM Publishers Pvt Ltd	126.00
7	Atlas	My First Altas-5	Goyal Brothers	83.00
8	Art & Craft	Art & Craft-5	PM Publisher	154.00
9	Moral Sci.	Living in Harmony-5	Oxford University	112.00
10	Exercise copy	9*60		540.00
11	Test Copy	5*30		150.00
12	Cover Roll	1 Pc		120.00
13	Drawing Copy	1 Pc		30.00
14	Name Sticker			10.00
				2244.00

Class -VI

SI No	Subject	TextBook	Publisher	Price
1	English	HoneySakul	NCERT	65.00
		A pack with the Sun	NCERT	35.00
		Superb English Grammar	PM Publishers Pvt Ltd	174.00
2	Hindi	Basant	NCERT	65.00
		Ram Katha	NCERT	45.00
		Gulmohar Hindi Vyankaran	Full Marks	136.00
3	Mathematics	Mathematics	NCERT	65.00
		Active Plus in Math	Full Marks	80.00
4	Science	Science	NCERT	65.00
		Active Plus in Science	Full Marks	80.00
5	Social Studies	History	NCERT	65.00
		Geography	NCERT	55.00
		Pol Science	NCERT	60.00
		School Atlas	Oxford	160.00
6	Sanskrit	Sanskrit	NCERT	55.00
7		Sanskrit Workbook	Fullmarks	56.00
8		Divyan Sanskrit Vyakaran	Rachana Sagar	100.00
9	GK	GK Planet	PM Publisher	138.00
10	Computer	IT Planet	PM Publisher	190.00
11	Art & Craft	Art & Craft	PM Publisher	154.00
12	Moral Sci	Living in Harmony-6	Oxford University	112.00
13	Exercise copy	13*60		780.00

14	Test Copy	7*30		210.00
15	Cover Roll	1 Pc		120.00
16	Drawing Copy	1 Pc		30.00
17	Name Stricker	1 pcs		10.00
				3105.00

Class -VII

SI No	Subject	TextBook	Publisher	Price
1	English	Honeycome	NCERT	65.00
		An Alien with hand	NCERT	40.00
		Superb English Grammar	PM Publishers Pvt Ltd	181.00
2	Hindi	Basant	NCERT	65.00
		Bal Mahabharat	NCERT	55.00
		Gulmohar Hindi Vyakaran	Full Marks	142.00
3	Mathematics	Mathematics	NCERT	65.00
		Active Plus in Math	Full Marks	80.00
4	Science	Science	NCERT	65.00
		Active Plus in Science	Full Marks	80.00
5	Social Studies	History	NCERT	65.00
		Geography	NCERT	65.00
		Pol Science	NCERT	65.00
		School Atlas	Oxford	160.00
6	Sanskrit	Sanskrit	NCERT	65.00
7		Sanskrit Workbook	Fullmarks	64.00
8		Divyan Sanskrit Vyakaran	Rachana Sagar	100.00
9	GK	GK Planet	PM Publisher	145.00
10	Computer	IT Planet	PM Publisher	202.00
11	Art & Craft	Art & Craft	PM Publisher	154.00
12	Moral Sci	Living in Harmony-6	Oxford University	112.00
13	Exercise copy	13*60		780.00
14	Test Copy	7*30		210.00
15	Cover Roll	1 Pc		120.00
16	Drawing Copy	1 Pc		30.00
17	Name Stricker	1 pcs		10.00
				3185.00

Class -VIII

SI No	Subject	TextBook	Publisher	Price
1	English	Honeydew	NCERT	65.00
		Its So happen	NCERT	55.00
		Superb English Grammar	PM Publishers Pvt Ltd	187.00
2	Hindi	Basant	NCERT	65.00
		Bharat ka khoj	NCERT	65.00
		Gulmohar Hindi Vyankaran	Full Marks	158.00
3	Mathematics	Mathematics	NCERT	65.00
		Active Plus in Math	Full Marks	80.00
4	Science	Science	NCERT	65.00
		Active Plus in Science	Full Marks	80.00
5	Social Studies	History	NCERT	65.00
		Geography	NCERT	60.00
		Pol Science	NCERT	65.00
		School Atlas	Oxford	160.00
6	Sanskrit	Sanskrit	NCERT	65.00
7		Sanskrit Workbook	Fullmarks	72.00
8		Divyan Sanskrit Vyakaran	Rachana Sagar	105.00
9	GK	GK Planet	PM Publisher	150.00
10	Computer	IT Planet	PM Publisher	215.00
11	Art & Craft	Art & Craft	PM Publisher	154.00
12	Moral Sci	Living in Harmony-6	Oxford University	112.00
13	Exercise copy	13*60		780.00
14	Test Copy	7*30		210.00
15	Cover Roll	1 Pc		120.00
16	Drawing Copy	1 Pc		30.00
17	Name Stricker	1 pcs		10.00
				3258.00